WHTE20255 L A o3k 2 IR ER A1

HIE(ZH) A X (1) BHiE A4 BHRAOS BHFEEW Gu/A)
P BN TS =t 4 1100
PR FEMES W 4 1300
PR BTSN el 1 900
T MRS RES 6 4800
PR PN RS 1 1 900
P MRS LR 4 1600
P BTSN PO 3 750
P T MRS U 3 1040
PR KENZES =4 3 2700
T K ZES g 4 3200
P KENZES FHE 2 1800
PR K ES g 1 900
BN KM ZES +* 4 2100
N Kiitf &4 T 1 900
PR KN ZES TR 1 900
BN KM ZEe e 1 900
P KN ZES B 1 900
P TR K ES S 3 1810
PR KENZES K 4 1500
T KN ZES A 2 1000
P KENZES Ei; 3 1200
PR AMMZES SN 4 2080
PR R ZES KA 5 3000
T AMMZES B 2 700
PR MM ZES B2 1 900
N RENZES L 1 900
P RENES B 2 1800
P T RENZES = 3 2250
PR RENZES B R 5 1800
T RENZES B 1 900
ML RENZS B 3 1500
PR RENZES BB 5 2000
BN RENZS M 3 2700
T RENZES L 1 900
PR RENZES ) 2 990
P RENZES = 3 900
P RENZES B fhiT 1 900
P TR RENZES [RE 1 900
2EIR:E RENZS AR 4 3220
T RENZES %2 1 900
BN RENZS V75 2 1040
PR RENZES 1t 5 3825
BN RENZS i 1 900
T RENZES B 1 900
PR Wi ZES X 3 1725
P Wit ZES N 2 1800
PR Wi ZES PR 5 2825
P T Wit ZES 5 1 900
PR Wi ZES pR*AE 1 900
T Mt ZES MR 1 900
P M ZES AR*BH 1 900




P HTHES ;
b Wﬁﬁié IL% ; 500
PbLE HTHZ 2 e 5 1200
b HTHZ 2 il ; )
P HTHZES ST : o
L ! ~ i 2
PIbLE HTHZ 2 o2z 00
P HTHZE S O 1 500
b HTHZ 2 T ; o
PIbLE SHHES b ; o0
b BHHEL e i %00
PIbLE EHHES s i %00
i £ 1
b BHHEL oA 5
P EHHES o ; oo
b EHHEL o ; 1500
b B AR B 2 500
PIbLE BHHEL ok %00
P EHHES ST : ot
~ ey - 2
b BN EL ik )
PIbLE EHHES TS 1 %00
b BHHEL o i %00
PbLE EWHES ek : B
PIbLE EHES T : %0
P EWHES BB i o
b ELHES i %00
P EWHES 0 : o
PIbLE EUHES T . 060
P EUH AL i 4 0
b EhH B o i %00
PIbLE EUHE L i i %00
b EOH AL ] : o5
PbLE EUH A B . o
PIbLE EOH AL s ; o
P EUH A s : 2500
b EhH B IR : D
P EHE L ; a0
PIbLE EHZ L I ; %0
P FUHES T i %0
b BN Z ' : 0
PbLE EHZE I : i
PIbLE EHE o . 3000
PbLE EHZE 5 1 500
PIbLE EHE T ; o
PbLE EHZE R 3 100
b B HZ 2 B d 500
P BAHE K i %00
PIbLEL BHZ 2 TREE i %00
PIbLE BHZ VL : o
b W o B ; 1600
PIbLE T L : )
PIbLE SN B i : EE
PIbLE T SE . o0
RN 3 4
PIbLE SN E TaE 00
P SN B e : 0
b SN B o ; B
2 1800




ML HHNZES R 2 1360
N N ES RIS 1 900
PR HHNES B ST} 3 1540
BN BN &2 fR*2% 4 2220
P NS XI*E 1 900
PR LIS P 1 900
PR NS ok 1 900
T IR 22 M 1 900
PR LIS M 3 1 900
P IR S B 1 900
P LIS U 1 900
P TR IS B 4 1300
PR LIS [/Rgce 1 900
T R 2 B 3 900
P NENZES A 6 3150
RN NENZES K> 3 2700
BN NENZES skt 1 900
N iENZES 7K 5 1 900
PR NENZES sk e 1 900
BN NENZES Kl 1 900
ML NENZES skt 1 900
RN ENZES KUK 2 900
PR NENZES M4 3 1710
T iENZES [ 1 900
P NENZES Y 3 1350
PR NENZES [/ 1 900
BN NENZES B R 4 2500
T RNZES TR 1 900
PR BIUNZES ik pE 5 1900
P BNZES K5 1 900
P BIUNZES ik 4 1720
P TR RNZES ik I 1 900
PR BENZES RH 3 1910
T BIENZES FR*7K 4 2940
ML BENZES LN 1 900
PR BIENZES 55 2 1800
PR BENZES 22 1 900
T BIENZES ) 1 900
PR BENZES 5 1 900
P RIS R AL 1 900
P RIS B R 2 1800
PR P Z e 2 1800
PR RIS R 4 2800
T RS IR 1 900
P RIS L 5 1800
PR P &2 2 3 2700
PR NILENZES e 1 900
T NI ENZES A 2 1160
PR NILENZES A 4 2280
BN WiLENZS R 1 900
P WILERNZES il 4 2372
P TR WILEMNZES Bk 4 1000
PR WILENZES & 3 900
T N ENZES R F 2 1800




P WILERNZES B ik 3 1710
PR EENES o 3 2040
PR BENES R 3 1626
T EENZES i 1 900
P EENES = 3 450
PR EENES =*E 1 900
PR BENES z=* | 1 900
T EENZES Ak 1 900
PR BENES 2=k 4 2600
P EENES =T 3 2110
P EENES S 1 900
P TR NS RFE 2 1800
2EIR:s WA ZES pINE 1 900
T Wik 2 ek 4 2600
P [N Jurp 1 900
PR [N S JUE 2 1800
PR [N A 2 1200
T Wyir 22 Juth 2 1400
PR IS Je*tk 1 900
P Wir ZES )2 1 900
P IS P 1 900
P TR NS JU* 1 900
PR eSS LR 4 1100
BN Mk s B H 2 1600
P [N S [ 1 900
PR RN FEXFA 3 1540
PR IR N K E 1 900
T IR N 5K B 1 900
YL BN & TR 3 1026
BN NS Ak 2 960
ML BN & B 5 2400
P TR BN TS 2= 1 900
PR IR N iR 1 900
BN IR F*2 5 3200
P RN RS L 1 900
PR RN [ 1 900
PR NP ESS 5 1 900
N IBRGESS H 5 2700
PR IIENESS ok 1 900
BN IBRGESS IR 1 900
P NIEESS ik 1 900
PR (PN ES 7] 1 900
PR NP ESS ik 1 900
BN PSR ESS P& 3 1341
P NP ESS 2 % 6 4080
PR NIENETS ik 1 900
PR NP ESS oI 4 2600
N IBRGESS IR 2 1260
PR IIENESS o= 1 900
BN IBRGESS ik 1 900
ML B ESS e Ft 1 900
P TR (PN ESS g3k 2 1800
PR NP ESS P2 3 1440
BN IBSEESS k™ 2 900




e 2 TE
RPN N K > 2400
eEIRi T *BH 2 1290
P Sk ZE S R 2 1800
b U Z 2 L : 1400
P B TR e 3 2400
b L HES s 1 900
A b T W : o0
P bt B o ! 900
RE Lk 2 v 2 900
- = Y AE 3
SRR 1Sk bf 2 2 v 1356
- = UL 3
P15 LSk A% 2 W i 1350
Py b MERTEN E*’E 1 900
o e o > 2700
B IS T : 1341
P AL o 1 900
A it E s n . 900
A5 IS T : 1100
P HES g&*f‘jﬁj 1 900
P MRS — 1 900
~ = BT 1
b InE O s 900
I Rz — 1 900
~ ‘ = BT 1
T S e 900
A b TN ES oA : 900
r™ ‘ WS 1
o e R 900
b IR 22 S : 2100
AL PRI 2 COT : 1620
A bt I % o P 2 1800
~ = B 4
P b YN 2 ER 1200
ub I Z 2 e 4 2200
P b o i 4 80
JLER I Z = T 0
b IR 22 P 1 500
A DI 2 T 3 1470
REIR S T 22 —— 1 900
~ = i 1
REIR:E TR 22 2 — 900
P STy L 18 1 900
L RYINZES R 7
P bt YN 2 o Wl 900
o I E 2 ik : 1440
b YN 2 Tl : 500
S FINZ 2 E 1 900
A b YR 2 Gk 1 900
P I Z 2 Tl 1 200
AL FYIHZ S L 1 900
o PN Z 2 R : 2320
P STNES e ! 900
Lt DS o 1 900
PIbLE e i 2 1700
BB e oo 3 1740
Py b SIS mE 3 1500
A AL T > 1950
P STNES o 2 1400
A T ES it 1 900
b FUHZES i 1 900
SEIRE! MRS g 1 900
AN 1 900




P FUMNES B R 1 900
PR FINZES e 1 900
PR FUMNES B 3 1800
BN LENZES IS 4 2600
BN TN ES ik 25 3 2100
PR TN ES K>k 4 2320
BN TN ES Ko 3 2700
N tENES TK*E 3 1500
PR TN ES s 1 900
P TN ES 5K BH 1 900
BN TN ES ik 3 900
P TR TIEMNES Tk iR 1 900
PR TN ES ik* 5 1 900
T TIEMNZES gkt 1 900
P TERNES 5k 2 1800
PR TN ES 5K A 2 1800
PR TN ES ik R 3 1050
T TIEMNES Tkt 4 2300
PR TN ES oKl 1 900
BN TN ES Tk 1 900
P TN RS 5k 4 2900
P TR TIEMNES [ 2 1440
PR TN ES N 3 1350
T TIEMNES AR 1 900
BN RN MR 3 1740
PR TN ES N 4 1500
BN TN ES MR 3 2340
T T ES EE 1 900
PR THMNZES RHE 3 450
P THMNZES FKXE 1 900
ML I ETS K> &) 1 900
RN THMNZES ikt 4 1880
PR THMNZS ik 3 2250
T THMNZES 5K 3 1980
ML THMNZES iK™ 1 900
RN THMNZES ik 3 1200
BN THMNZES ik 4 1400
T THMNZES 5Kl 4 1800
PR IR E TS 5k 3 1800
P THMNZES W& 3 1575
P THMNZES RBE 1 900
BN THRNZS R 3 1401
2EIR:s IR ETS Bk 3 1200
T THMNZES VRS 1 900
P THMNZES B 2 1250
PR THMNZES SH 1 900
BN EENZS X 38 1 900
T BENZES R4 4 2300
YL BENES P 4 1372
BN BEENEZS T 3 1020
ML EENZS b ER 3 2700
P TR BENZES Bt 4 3600
PR BEENZES BprT 2 1800
BN BENES By 3 1200




P BENZES B It 4 1920
PR BENZES B 3 1725
PR BENZS Bk 1 900
BN BENZS B rk 1 900
P THNZES JE R 2 1800
PR THNZES 9 1 900
PR THNES 2= 4 1 900
N EANZES Z=*BH 3 2520
PR THUNES B 1 900
P THNES Hig 4 2080
P THNZES o 1 900










